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QUESTION 1

In VNX OE for File, which type of device is used to logically reduce disk volumes into smaller partitions to improve
usage?

A. Stripe
B. Slice
C. Disk
D. Meta

Correct Answer: B

QUESTION 2

A customer has a VNX system that uses only RAID 6 configured as 6+2 groups. The VNX model supports a maximum
of 500 drives. They intend to use Clones for local replication and backups, and MirrorView/S for remote replication.

What is the size of the largest Pool they can create?
A. 492 drives
B. 496 drives
C. 500 drives
D. 488 drives

Correct Answer: D

QUESTION 3

Where, in Unisphere, can a Storage Administrator see a host that has not yet been connected to Storage Group?
A. Initiators tab, part of the "~management" Storage Group

B. Storage Groups tab, listed as "unassigned"

C. Hosts tab, listed as "unassigned"

D. Initiators tab, listed as "available hosts"

Correct Answer: A

QUESTION 4

Which RAID type can be expanded?
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A.RAID 5

B.RAID 1
C.RAID 3
D. RAID 6

Correct Answer: A

QUESTION 5

A company wants to connect four different IP subnets to a single existing LACP trunk. How can this be accomplished?
A. Configure four different IP addresses on the virtual LACP interface with different names.

B. Destroy the LACP trunk and configure two IP addresses on each physical interface with different names.

C. Destroy the LACP trunk and build an Ethernet channel; then configure four different IP addresses on the virtual
Ethernet channel interface with different names.

D. This is not possible because only one IP address can be set on one interface.

Correct Answer: A
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